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Corrigendum/Explanation SFG 2025 Level 1 Test 3 

   

There are no changes to the solutions/answers. Explanation in one question have been provided 

for the students who have raised doubts.    

  

Q.11) There was a doubt raised with respect to Statement 2 i.e. “India has not made effective 
implementation of its policies in social sectors nor made sufficient investments in them.”  
Explanation- The statement 2 is correct inference. The passage identifies "education" as one of the 

four crises affecting India's prospects, alongside agriculture, infrastructure, and industrialization. This 

indicates shortcomings in education policy implementation or investment. The Passage doesn’t explicitly 

mention the term "social sectors," but education is undoubtedly a key part of this sector. 

It's a Previous Year Question from UPSC CSE GS Paper II 2020, and the answer is as per official answer 

key. 

 

 


